

Common Fixed-Point of Three Self-Mappings in Cone Metric Space

Suresh Nagle^{1*}, Rajni Bhargav², Manoj Ughade³

¹Department of Mathematics, Research Scholar, M L B Govt. Autonomous Girls College Bhopal, MP, India

²Department of Mathematics, M L B Govt. Autonomous Girls College Bhopal, MP, India

³Department of Mathematics, J H Government Post Graduate College, Betul, MP, India

*Corresponding author, e-mail: sureshnagle1@gmail.com

Abstract

The aim of this paper is to prove a coincidence and common fixed-point theorem of three self-mappings satisfying contractive condition in cone metric space. Our findings improve and generalise certain well-known findings in the literature.

Keywords: Coincidence point, common fixed point, contractive condition.

Mathematics Subject Classification: 47H10, 54H25, 55M20.

1 Introduction

Huang & Zhang [2] familiarized the idea of cone metric space and prove some fixed-point theorems for contractive type mappings in a normal cone metric space. Subsequently, some other authors [1, 3 to 6] studied the existence of fixed points of self-mappings satisfying a contractive type condition. Here, we obtain points of coincidence and common fixed points for three self-mappings satisfying condition (A) in a complete cone metric space.

The aim of this paper is to prove a coincidence and common fixed-point theorem of three self-mappings satisfying contractive type condition (A) in cone metric space.

2 Preliminaries

Definition 2.1 (see [1]): A subset P of a real Banach space E is called a cone if it has the following properties:

1. P is non-empty, closed and $P \neq \{0\}$
2. $0 \leq a, b \in \mathbb{R}$ and $\eta, v \in P \Rightarrow a\eta + bv \in P$;
3. $\eta \in P$ and $-\eta \in P \Rightarrow \eta = 0 \Leftrightarrow P \cap (-P) = \{0\}$.

Definition 2.2 (see [1]): For a given cone $P \subseteq E$, we can define a partial ordering \leq on E with respect to P by $\eta \leq v$ if and only if $\eta - v \in P$. We shall write $\eta < v$ if $\eta \leq v$ while $\eta \ll v$ stands for $v - \eta \in P^0$ where P^0 denotes the interior of P . The cone P is called normal if for some $K > 0$ for $\eta, v \in E$,

$$0 \leq \eta \leq v \Rightarrow \|\eta\| \leq K\|v\| \quad (2.1)$$

The least positive number K satisfying (2.1) is called the normal constant of P .

In the following, we always suppose that E is a real Banach space and P is a cone in E with $\text{int}P \neq 0$ and \leq is a partial ordering with respect to P .

Proposition 2.3 (see [7]): Let P be a cone in a real Banach space E . If for $b \in P$ and $b \leq \gamma b$, for some $\gamma \in [0, 1)$ then $b = 0$.

Proposition 2.4 (see [7]): Let P be a cone in a real Banach space E with non-empty interior. If for $b \in E$ and $b \ll c$, for all $c \in P^0$, then $b = 0$.

Definition 2.5 (see [1]): Let X be a nonempty set. Suppose that the mapping $d: X \times X \rightarrow E$ satisfies

1. $0 \leq d(\eta, v), \forall \eta, v \in X$ and $d(\eta, v) = 0 \Leftrightarrow \eta = v$;
2. $d(\eta, v) = d(v, \eta), \forall \eta, v \in X$;
3. $d(\eta, v) \preceq d(\eta, w) + d(w, v), \forall \eta, v, w \in X$.

Then d is called a cone metric on X , and (X, d) is called a cone metric space.

Example 2.6 (see [1]): Let $E = \mathbb{R}^2$, $P = \{(\eta, v) \in E: \eta, v \geq 0\} \subset \mathbb{R}^2$, $X = \mathbb{R}$ and $d: X \times X \rightarrow E$ such that $d(\eta, v) = (|\eta - v|, \alpha|\eta - v|)$, where $\alpha \geq 0$ is a constant. Then (X, d) is cone metric space.

Definition 2.7 (see [1]): Let $\{\eta_n\}$ be a sequence in X and $\eta \in X$. If for each $0 \ll c$, $\exists n_0 \in \mathbb{N}$ such that for all $n > n_0$, $d(\eta_n, \eta) \ll c$ then $\{\eta_n\}$ is said to be convergent (or $\{\eta_n\}$ converges) to η and η is called the limit of $\{\eta_n\}$. We denote this by $\lim_{n \rightarrow \infty} \eta_n = \eta$ or $\eta_n \rightarrow \eta$ as $n \rightarrow \infty$. If for each $0 \ll c \exists n_0 \in \mathbb{N}$ such that for all $n, m > n_0$, $d(\eta_n, \eta_m) \ll c$, then $\{\eta_n\}$ is called a Cauchy sequence in X . If every Cauchy sequence is convergent in X , then X is called a complete cone metric space.

Definition 2.8 (see [1]): A pair (T, f) of self-mappings on X one said to be weakly compatible if they commute at their coincidence point i.e. $Tf\eta = fT\eta$ whenever $T\eta = f\eta$.

Definition 2.9 (see [1]): A point $v \in X$ is called a point of coincidence of T and f if \exists a point $\eta \in X$ such that $v = T\eta = f\eta$.

Condition (A): Let (X, d) be a cone metric space, P be a normal cone with normal constant K and $g, f, T: X \rightarrow X$ are three self-mappings. Then g, f, T are said to satisfy condition (A) if

$$d(g\eta, fv) \leq ad(Tv, gv) + b[d(T\eta, g\eta) + d(Tv, fv)] + cd(T\eta, Tv)$$

for $\eta, v \in X$ where $0 \leq a, b, c < 1$ with $a + 2b + c < 1$.

Proposition 2.10 (see [6]): Let (X, d) be a cone metric space and P be a cone in a real Banach space E . If $\eta \leq v, v \ll w$ then $\eta \ll w$.

3 Main Results

Our main result as follows.

Theorem 3.1: Let (X, d) be a cone metric space, P be a normal cone with normal constant K . Suppose the mapping $g, f, T: X \rightarrow X$ satisfying condition (A). If $g(X) \cup f(X) \subseteq T(X)$ and $T(X)$ is a complete subspace of X , then g, f and T have a unique point of coincidence. Moreover, if (g, T) and (f, T) are weakly compatible, then g, f and T have a unique common fixed point.

Proof Let η_0 be arbitrary point in X . Choose a point η_1 in X such that $T\eta_0 = g\eta_1$. Similarly, choose a point η_2 in X such that $T\eta_1 = f\eta_2$. Continuing in this way choose η_k in X to obtain η_{k+1} in X such that

$$T\eta_{2k+1} = g\eta_{2k}, \quad T\eta_{2k+2} = f\eta_{2k+1}, \quad (k \geq 0)$$

Then,

$$d(T\eta_{2k+1}, T\eta_{2k+2}) = d(g\eta_{2k}, f\eta_{2k+1})$$

$$\begin{aligned} &\leq ad(T\eta_{2k+1}, g\eta_{2k+1}) \\ &+ b[d(T\eta_{2k}, g\eta_{2k}) + d(T\eta_{2k+1}, f\eta_{2k+1})] + cd(T\eta_{2k}, T\eta_{2k+1}) \\ &\leq ad(T\eta_{2k+1}, T\eta_{2k+2}) \\ &+ b[d(T\eta_{2k}, T\eta_{2k+1}) + d(T\eta_{2k+1}, T\eta_{2k+2})] + cd(T\eta_{2k}, T\eta_{2k+1}) \end{aligned}$$

This \Rightarrow

$$d(T\eta_{2k+1}, T\eta_{2k+2}) \leq \left[\frac{b+c}{1-(a+b)} \right] d(T\eta_{2k}, T\eta_{2k+1})$$

Similarly,

$$\begin{aligned} d(T\eta_{2k+2}, T\eta_{2k+3}) &= d(g\eta_{2k+1}, f\eta_{2k+2}) \\ &\leq ad(T\eta_{2k+2}, g\eta_{2k+2}) \\ &+ b[d(T\eta_{2k+1}, g\eta_{2k+1}) + d(T\eta_{2k+2}, f\eta_{2k+2})] \\ &+ cd(T\eta_{2k+1}, T\eta_{2k+2}) \\ &\leq ad(T\eta_{2k+2}, T\eta_{2k+3}) \\ &+ b[d(T\eta_{2k+1}, T\eta_{2k+2}) + d(T\eta_{2k+2}, T\eta_{2k+3})] \\ &+ cd(T\eta_{2k+1}, T\eta_{2k+2}) \end{aligned}$$

This \Rightarrow

$$d(T\eta_{2k+2}, T\eta_{2k+3}) \leq \left[\frac{b+c}{1-(a+b)} \right] d(T\eta_{2k+1}, T\eta_{2k+2})$$

Now by induction we arrive at

$$\begin{aligned} d(T\eta_{2k+1}, T\eta_{2k+2}) &\leq \left[\frac{b+c}{1-(a+b)} \right] d(T\eta_{2k}, T\eta_{2k+1}) \\ &\leq \left[\frac{b+c}{1-(a+b)} \right]^2 d(T\eta_{2k-1}, T\eta_{2k}) \\ &\leq \dots \leq \left[\frac{b+c}{1-(a+b)} \right]^k d(T\eta_0, T\eta_1) \end{aligned}$$

And

$$\begin{aligned} d(T\eta_{2k+2}, T\eta_{2k+3}) &\leq \left[\frac{b+c}{1-(a+b)} \right] d(T\eta_{2k+1}, T\eta_{2k+2}) \\ &\leq \left[\frac{b+c}{1-(a+b)} \right]^2 d(T\eta_{2k}, T\eta_{2k+1}) \\ &\leq \dots \leq \left[\frac{b+c}{1-(a+b)} \right]^{k+1} d(T\eta_0, T\eta_1) \end{aligned}$$

for each $k \geq 0$.

Let $\lambda = \frac{b+c}{1-(a+b)}$, then $\lambda < 1$.

Hence in general we can write

$$d(T\eta_k, T\eta_{k+1}) \leq \lambda^k d(T\eta_0, T\eta_1)$$

Now for positive integer p , we have

$$\begin{aligned} d(T\eta_k, T\eta_{k+p}) &\leq d(T\eta_k, T\eta_{k+1}) + d(T\eta_{k+2}, T\eta_{k+3}) + \dots + d(T\eta_{k+p-1}, T\eta_{k+p}) \\ &\leq [\lambda^k + \lambda^{k+1} + \lambda^{k+2} + \dots + \lambda^{k+p-1}] d(T\eta_0, T\eta_1) \\ &\leq \lambda^k \left[\frac{1-\lambda^{p-1}}{1-\lambda} \right] d(T\eta_0, T\eta_1) \\ &\leq \lambda^k \left[\frac{1}{1-\lambda} \right] d(T\eta_0, T\eta_1) \end{aligned}$$

Now for $c \in P^0$, $\exists r > 0$ such that $c - v \in P^0$ if $\|v\| < r$. Choose a positive integer n_0 such that for all $k \geq n_0$, $\left\| \frac{\lambda^k}{1-\lambda} d(T\eta_0, T\eta_1) \right\| < r$, which implies that,

$$c - \frac{\lambda^k}{1-\lambda} d(T\eta_0, T\eta_1) \in P^0 \text{ and } \frac{\lambda^k}{1-\lambda} d(T\eta_0, T\eta_1) - d(T\eta_k, T\eta_{k+p}) \in P^0$$

$k > N_c$ and for all P , by Proposition 1.10, $d(T\eta_k, T\eta_{k+p}) \ll c$ for all $k > N_c$ and for all P . Hence $\{T\eta_k\}$ is a Cauchy sequence in $T(X)$. Since $T(X)$ is complete, there exist $\omega, \zeta \in X$ such that $T\eta_k \rightarrow \zeta = T\omega$.

Since

$$\begin{aligned}
 d(T\omega, g\omega) &\leq d(T\omega, T\eta_{2k}) + d(T\eta_{2k}, g\omega) \\
 &\leq d(\zeta, T\eta_{2k}) + d(f\eta_{2k-1}, g\omega) \\
 &\leq d(\zeta, T\eta_{2k}) + d(g\omega, f\eta_{2k-1}) \\
 &\leq d(\zeta, T\eta_{2k}) + ad(T\eta_{2k-1}, g\eta_{2k-1}) \\
 &\quad + b[d(T\omega, g\omega) + d(T\eta_{2k-1}, f\eta_{2k-1})] + cd(T\omega, T\eta_{2k-1}) \\
 &= d(\zeta, T\eta_{2k}) + ad(T\eta_{2k-1}, T\eta_{2k}) \\
 &\quad + b[d(T\omega, g\omega) + d(T\eta_{2k-1}, T\eta_{2k})] + cd(T\omega, T\eta_{2k-1})
 \end{aligned}$$

This \Rightarrow

$$d(T\omega, g\omega) \leq \frac{1}{1-b} \left[\begin{aligned} &d(\zeta, T\eta_{2k}) + ad(T\eta_{2k-1}, T\eta_{2k}) \\ &+ bd(T\eta_{2k-1}, T\eta_{2k}) + cd(T\omega, T\eta_{2k-1}) \end{aligned} \right]$$

Hence, it concludes that

$$\|d(T\omega, g\omega)\| \leq \frac{K}{1-b} \left\| \begin{aligned} &d(\zeta, T\eta_{2k}) + ad(T\eta_{2k-1}, T\eta_{2k}) \\ &+ bd(T\eta_{2k-1}, T\eta_{2k}) + cd(T\omega, T\eta_{2k-1}) \end{aligned} \right\|$$

where K is a normal constant. If $n \rightarrow \infty$, then we arrive at $\|d(T\omega, g\omega)\| = 0$. Hence $T\omega = g\omega$.

Similarly, by using the inequality

$$d(T\omega, f\omega) \leq d(T\omega, T\eta_{2k+1}) + d(T\eta_{2k+1}, f\omega)$$

We can show that $T\omega = f\omega$, implying that ζ is a common point of coincidence of g, f and T ; i.e. $\zeta = T\omega = g\omega = f\omega$. Now we show that g, f and T have unique point of coincidence. For this, assume that there is another point ζ^* in X , such that $\zeta^* = T\omega^* = g\omega^* = f\omega^*$ for some $\omega^* \in X$. Now

$$\begin{aligned}
 d(\zeta, \zeta^*) &= d(g\omega, f\omega^*) \\
 &\leq ad(T\omega^*, g\omega^*) + b[d(T\omega, g\omega) + d(T\omega^*, f\omega^*)] \\
 &\quad + cd(T\omega, T\omega^*)
 \end{aligned}$$

$$= ad(T\omega^*, T\omega^*) + b[d(T\omega, T\omega) + d(T\omega^*, T\omega^*)] \\ + cd(T\omega, T\omega^*)$$

The last inequality gives

$$d(\zeta, \zeta^*) \leq cd(\zeta, \zeta^*)$$

This is possible only when $\zeta = \zeta^*$.

If (g, T) and (f, T) are weakly compatible, then

$$g\zeta = gT\omega = Tg\omega = T\zeta \text{ and } f\zeta = fT\omega = Tf\omega = T\zeta$$

It implies that $g\zeta = f\zeta = T\zeta = z$ (say). Hence, z is a point of coincidence of g, f and T and so $\zeta = z$ by uniqueness. Thus ζ is the unique common fixed point of g, f and T .

References

- [1] A. Azam & M. Arshad, Common fixed points of generalized contractive maps in cone metric spaces, *Bull. Ira. Math. Soc.*, Vol 35, No.2 (2009), 255-264.
- [2] L.G. Huang and X. Zhang, Cone metric spaces & Fixed point theorems of contractive mappings, *J. Math. Anal. Appl.*, 332(2007), 1468-1476.
- [3] M. Abbas and G. Jungck, Common fixed point results for non-commuting mappings without continuity in cone metric spaces, *J. Math. Anal. Appl.*, 341(2008), 416-420.
- [4] P. Raja and S. M. Vaezpour, Some extensions of Banach's contraction principle in complete cone metric spaces, *Fixed point theory & Application* (2008), Article ID 768294, 11 pages.
- [5] Rezapour and R. Hamlbarani, Some notes on paper cone metric spaces and fixed point theorems of contractive mappings, *J. Math. Anal. Appl.*, 345(2008), 719-724.

- [6] Shobha Jain, Shishir Jain and Lal Bahadur, Compatibility and weak compability for four self-maps in a cone metric space, *Bull. Math. Anal. Appl.*, Vol. 2, issue 1(2010), 15-24.
- [7] D. Ilic, V. Rakocevic, Quasi-contraction on a cone metric space, *Applied Mathematics Letters* 22 (2009), 728–731.